Corporate Finance, Spring, 2011
Final Exam
Wednesday, June 8%, 2011

Writing time: 5 hours
Use of calculators is allowed

Points per each question as indicated. Maximum score is 80 points for
Corporate Finance (8 ECTS) students, and 65 points for Corporate Governance
(6 ECTS) students. The Corporate Governance students do not answer question
number 5 (if you are uncertain about it, you are probably not a Corporate
Governance student). 50% of the available points are required for a passing
grade. In your answers to the essay guestions, avoid going beyond one page. R
collection of financial formulas is provided on the last page for your
convenience.

1. PFor each question in this section, chcoose the one meost correct option.
Unclearly marked choices do not score peintsg. (each of the 6 sub-questions
below ig worth 2.5 points)

1.1. The pecking order theory suggests that the order in which firms
use financing sources is:

a) External equity, debt, internal equity
b) Debt, extermal equity, internal equity
c) Internal equity, debt, external equity
d) External eguity, internal equity, debt

1.2. If a firm with 10 million in debt pays a 5% fixed rate for their
debt, and their corporate tax rate is 36%, what is the present
value of their interest tax shield (assume infinite maturity for

the debt)?
‘a)) 180,000
b) 320,000

c) 500,000
d) 3,600,000

1.3. What is the main benefit of using the APV method in presence of
interest tax shields?

a) It allows use of a lower discount rate for the tax shield
(b)) It treats all corporate cash flows equally

¢) It rejects all negative NPV projects

d) It accounts automatically for the unequal lives problem

1.4. How does the certainty equivalent approach compare to the more
traditional risk adjustment methods in capital budgeting?

a) It is easier to use

b) It is more intuitive to adjust cash flows than to adjust the
discount rate

¢) It can consider differences among project c¢ash flowe both through

= time and through different cash flow types

d) It uses more advanced methods, based on differential calculus



1.5. Should perscnal taxes affect corporate capital structure
decisions?

a) They should not affect them, as personal taxes are outside the
control of the firm

b) Personal taxes should play a role, as they affect shareholder
wealth

c) Personal taxes vary by shareholder groups, which makes them
impossible to account for in corporate decision-making

d) Personal taxes tend to be lower than corporate taxes, giving an
incentive to pay out maximum dividends

1.6. In pure play method, project risk is determined by

a) Similar publicly traded firms

b) The firm's historical return patterns
c) The Monte Carlo simulation method

d)) Scenarioc analysis

2. Explain the differences between the M&M Proposal 1, and the static trade
off theory. What are the main factors behind the static trade-off theory
(15 points).

3. Assume a project with the following cash flows:
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In separate calculations, calculate the NPV of the project if the firm’s
cost of capital is either 3%, 9%, or 15%. Would you recommend that the
firm takes the project if its WACC is estimated to be somewhere between
9% and 11%? Without calculations, discuss the merits of using the IRR
method to evaluate this project (10 points).

4, During a guest lecture by Pekka Saaskilahti, the use of real options and
game theory were discusgsed. Explain the application of the mentioned
methods at Nokia Corp. (no numerical analysis needed) (10 points)
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